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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) All questions are compulsory.

(ii) This question paper contains 35 questions.

(iii)  The question paper is divided into four sections — Sections A, B, C and D.

(iv)  Section A has questions no. 1 to 14 (Multiple Choice Questions) of 1 mark each.

) Section B has questions no. 15 to 18 (Case study-based questions) and are of
I mark each.

(vi)  Section C has questions no. 19 to 25 of 2 marks each and questions no. 26 to 29 of
3 marks each.

(vii)  Section D has questions no. 30 to 33 of 4 marks each and questions no. 34 and 35 of
5 marks each.

(viii) Internal choices are given in some questions.

(ix)  Support your answers with suitable examples wherever required.

SECTION A

1. KGBV scheme provides school education in residential schools up to which
class ? 1
(A) Class 5 (B) Class 12
(C) Class6 (D) Class 10

2. What is the number of customers/consumers known as, who visit any given space
such as a shop/store/mall ? 1
(A)  Consumer forum (B)  Consumer behaviour
(C)  Consumer footfall (D)  Consumer guide

3. Name the process of smoothening out wrinkles, created with use or during
washing clothes. 1
(A)  Tumbling (B)  Starching
(C)  Polishing (D)  TIroning
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4. ATfSIeR Safir o forg fefefad 3 @ sia-ar safdara 7o g =fey 2
(A)  glorerses e # s
(B)  hact T T@ITA o TelT W STAT
(C)  Juferq iR dferd wvEl o foTq s e
(D)  ofeieh &ryy o foTQ ahm st
5. e o YATSER H St (Sehte A5 8l & S 3T9eha) Tid W 1 id @ | 3 o frera
T 1 U § T I § 2
(A)  10-20% (B) 20-40%
(©) 60-70% (D) 100%

6. @ 3 yfweres forg Torr o Hohe o ISR ?

(A) TR Hhe
(B)  vifdes Gehe
€) fewrs 37 g ek deve
(D)  HEASIf Hhe
IrraT

frfafad o @ -t @ e o agd e Juiienr iR 37 TIeHTE © 2
(A)  TTS.UH.TE. HTeh TR U, TH.TH T, 3T,
(B)  3TTE.UH.3TE. AT 3R ToTeh
(C) WM 37 3hMeh
(D) UH.UH.UH.UITE. 3N 8.0
7. ARHA QWAL ?
(A)  FEHT TR FHRIT TRTE
(B) TN HER TENfeht
(C) T 3HegeT TiRTefor
(D) AT SN HR Srfirh!

69/S Page 4




69/S

Which of the following personal attribute should be there for social

entrepreneurship ? 1
(A)  Work in comfort zone
(B)  Work only for health care
(C)  Work for neglected and disadvantaged groups
(D)  Work for financial gains
In a big laundry hydro extractors are used, which work in a centrifugal motion and
get rid of what percent of moisture from clothes ? 1
(A) 10-20% (B) 20-40%
(©) 60-70% (D) 100%
Food colours and preservatives are examples of which type of hazard ? 1
(A)  Chemical hazard
(B)  Physical hazard
(C)  Visible biological hazard
(D)  Microbiological hazard
OR
Which of the following are voluntary grading and marking schemes in food
standards ? 1
(A)  ISI mark and FSSAI
(B)  ISI mark and Agmark
(C)  Agmark and Ecomark
(D) FSSAIand BIS
What is the full form of ICT ? 1
(A) Information and Career Training
(B) Institutional Communication Technology
(C)  Institutional Computer Training
(D)  Information and Communication Technology
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8. FARIRET § & SF-|T JaoHl o ¢ R A aTcl SATEEIe o ¢ SfeRT
I TE T2
(A)  ITesTga O & fore 2fes @vTet aheg & S@wTetendt
(B) oI 3@widl T8 # Weiee
(C)  UTmiETar
(D) TS AR ES URTETh

9.  famrfeiiad # @ |1 s wet 7at © 2
(A)  SeTieh UISUT & shi ITTSTehe] fIfehcd 1™ TN SU=IN +ff shed & |
(B) T Sfia3tedt ferantferes TRTT & ST 81N Al 31aree 1 foreter s wehd! 2 |
(C) IR SATER STE & T AT s 72 2 |
(D) 3fa: TRwy wvwor ot 3vef @ fop Qeft hy ooy oy foreramt & feam sman @ 52 3

¥ fgu gRT ag=mr T ST R |
10. S IH T <A I :
(A) Tfear et —  oRTT ASHER W
(B) ff Aigen T8 3un fofssid og —  SLATREL T
(C)  Tohel B N L EIPER e
(D) =3 16(1) — et srftafem
1. &= I gE 1§ i i
g 1 g 11
(@i o &) (Fereren)
i g 1. TTHRTR_aYH
ii 3T 2. WH IR
iii Td 3. W HRI9EET aH
iv.  disar 4. QI H Ehaq
frfrfiad o @ &t foshe g ;

(A)  i-1,ii-3,iii-2,iv—4
(B) i-3,ii-4,ii-1,iv-2
(C)  i-4ii-3,iii-2,iv-1
(D)  i-2,ii—1,iii—4,iv-3
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8. Which one of the following is not a career avenue for a professional working for

elderly people ? 1

(A)  Caregiver in a day care centre for Alzheimer patients
(B)  Manager in respite care home
(C)  Counsellor

(D)  Scout and guide instructor

9. Find the incorrect statement from the following : 1
(A) Inrecent times, Clinical Nutrition field is also known as Medical Nutrition
Therapy.
(B)  Healthy lifestyle can delay the age of onset of chronic diseases.
(C)  Mechanical soft diet is not easily digestible food.

(D)  Intravenous feeding means that the patient is nourished with special
solutions which are given through a drip in a vein.

10.  Select the correct pair : 1
(A)  Woman Entrepreneur — Kiran Mazumdar Shaw
(B)  Shri Mahila Griha Udyog Lijjat Papad — JRD Tata
(C)  Cash crops — Less economic importance
(D)  Section 16(1) — Factories Act
11.  Match List I with ListII : 1
List 1 List Il
(Aspects of colour) (Explanation)
1. Hue 1 Darkness of colour
il. Tint 2. Brightness of colour
iii. Shade 3 Common name of colour
1v. Intensity 4. Lightness of colour

Choose the correct option from the following :
(A) i—-Lii-3,iii-2,iv—-4
B) i-3,i-4,ii—-1,iv-2
©) i-4,ii-3,iii—2,iv-1
(D) 1i-2,ii-1,iii—4,iv-3

69/S Page 7 P.T.O.



12.

13.
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EHE

=it 13 =i 114 fiee il
gl 1 g 11
(@l % fo1q 75e) (fIeTd)
i. fewTe 1. Mg T
ii. HTIRT 2. IATY Il % ¢ IRER SeTiid Se™
iii. AT AEAE 3. AR ol o (O TS T8
iv. IR0 4. ST SRR o fore fetrerdt et
frfaftad # @ @& foered g ;
(A)  i-2,ii-3,iii—4,iv—1
B)  i-3,ii—4,iii—1,iv-2
(C) i-4,ii-1,iii-2,iv-3
(D) i-1,ii—-2,iii—3,iv—4
@) Trfaiead & & @rer J[ea ware Hi qeay ;
(i) Tesamsic war o afesat
(i) T IR
(iii) TTE 3R &
(v) oA 9 e =t
fFrefafaa 7 9 stua faesre s =g fifso
(A) (i) 3 (iv) B) (i) 3 (i)
(C) (i) 3 (iv) (D) (i) 3 (iii)
YT
@) S IR A FHEfARead | € for @ v o sy e TR 2
i
(i)
(i) T
(iv) &
fFrefafaa 7 9 stua faere s =g hifsio
(A) (i) 3 (i) B) (i) 3T (iv)
(©) (i) 3R (i) (D) (iii) 3R (iv)
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e
Match List I with List II :
List 1 List 11
(Initiatives for children) (Features)
1. Special Homes 1. Adoption
ii. CARA 2. Family-based care for orphaned children

111.

1v.

SOS Children’s Villages 3.  Temporary home for missing children

Observation Homes 4. Custodial care for juveniles

Choose the correct option from the following :

(A)
(B)
©
(D)

(a)

(b)

12,0 -3, iii— 4, iv—1
13, —d,iii—1,iv—2
40— 1, i -2, iv—3

i 1,0 —2,iii—3,iv—4

Identify the food derivatives from the following :
(1) Canned fruits and vegetables

(1)  Sugar from sugarcane

(i)  Marmalades and squashes

(iv)  Oil to vanaspati ghee

Choose the correct option from the following :

(A) (il and (iv) (B) (i) and (ii)

(C) (1) and (iv) (D)  (i1) and (ii1)
OR

Louis Pasteur conducted research on which of the following food items ?

(1) Soup

(i1)  Water

(i)  Vinegar

(iv) Milk

Choose the correct option from the following :

(A) (i) and (iii) (B) (i) and (iv)

(C) (i) and (ii) (D)  (iii) and (iv)
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[= £E
ﬁﬁ%ﬁﬁﬁ-ﬁmm%;@% ?
()  E-FESa afear dee, e
(i) St farmdis, Terea™
(i) ST A NESHET, STLIEm fooedt
(iv) THUIIATE. TREASHT, AHeTS

ffetied o & 3ferd forshed =T =HTe hITT -

(A) (i) ¥R (iv) B) (i) AW (i)
(C) (i) 3N (iii) (D) (iii) 3 (iv)
Qs d
(e TEET-SATATHE T9 )

= Pl LAY YIgY R I G&A1 159 18 T % I FHo7T |

WTE AN | gere/ i, S SR Tkt (FaHT @TE IcTEl § gUR, ¢ 3cdral
forhTer, ST TSR | e 3TR 7% Sreififenal &1 foehme), @rer e i gifaa
AT 3T e TUTeT T HIHTeL AT, TUTET ohi P 3 3 Tgfadt § gam &,
A™YE Icq1ed ol AT F 8 ArTd e SR e W wffafea €
SfifereRt o foTT &Rt @rer SEnfreht i foret weh sTraT # foriosrar ITeq ot Tk & S —
U veTed, St IcuTe, HiW I A qrer, S WrE, S R de, S/,
IS 3R ATk T |

frfafiad & & SH-a1 70 9 78 2 2

(A) T ST — SRS o Fweh, T T, €t 3o ae
(B) Aok — g, &t Uier fsstal

(C) fowr - w5

(D)  3Tel-foeprd — TS, AT
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Which of the following are examples of Community Radio ? 1
(1) Self-Employed Women’s Association, Gujarat

(i1)  Vanasthali Vidyapith, Rajasthan

(ii1)  Project Village Chhatera, North-West Delhi

(iv)  SARI Project, Tamil Nadu

Choose the correct option from the following :

(A) (i) and (iv) (B) (i) and (ii)
(C) (i) and (iii) (D) (iii) and (iv)
SECTION B

(Case Study-Based Questions)

Read the passage carefully and answer the questions number 15 to 18.

Food industry is involved in processing/manufacture, research and development
(modifying existing food products, developing new products, researching
consumer markets and developing new technologies), ensuring food safety and
monitoring food quality, improving quality control procedures, costing to ensure
profitable production, and regulatory affairs. They may specialise in a particular
branch of food technology such as beverages, dairy products, meat and poultry,

sea food, fats and oils, stabilisers/preservatives/colours, food grains and additives.

Which of the following is an incorrect pair ? 1

(A)  Food fortification — Iodised salt, Vitamin A, D added to oil

(B)  Non-perishable Milk, green leafy vegetables

(C)  Perishable Paneer, curd

(D)  Semi-perishable — Onion, potato

Page 11 P.T.O.
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N o AR gewsia foam o STgrEnT e € 2

A) @ fage
(B) @& HERA
(C) W WMEnfrEht

(D) @I 3IATET

17. = Ru e AT il SAMHAT (A) TR HROT (R) & €9 4§ 3iferd foram g |
AT (4) :  TRA 7 T FY-=JT AT O § 3T H9-SATH ATt I 6 €9 H
TTT SRt 7, TSTere i o ScTaT o WSRUT ST TEEaRtuT hl STTawIehdl
ST R R |
FR(R) : TSI @TE GaTE GRNfeh T |remor wWonTg fafemy st g
foreper 781 feram STTaT € |

e fow T feredi # & waifosh Suged ST T ;
(A)  (A) 3T (R) THT T & 3T (R), (A) Fl T& @A R |

(B)  (A) 3 (R) IHT @&t E, AfHT (R), (A) il Tt ARe 7T 2 |

(C) (AW, AfhT (R) Tt © |
(D)  (A) T &, AT (R) & 2 |
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69/S

Which is a distinct field involving the application of basic sciences such as

chemistry, physics, culinary arts, agronomics and microbiology ? 1

(A)  Food Science

(B)  Food Processing

(C)  Food Technology

(D)  Food Manufacturing

Given below are two statements labelled as Assertion (A) and Reason (R). 1

Assertion (A) : India has progressed from an agro-deficit to an agro-surplus
country, creating a need for storage and processing of

agricultural produce.

Reason (R) : Nowadays, food processing technologies do not use simple

traditional methods at all.

Select the most appropriate answer from the options given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(©)  (A)is true, but (R) is false.

(D)  (A)is false, but (R) is true.

Page 13 P.T.O.
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22,
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<131 R 21 e 1 TR (A) SR (R) 36 5 i Rear e 3 |

HIHIT (4) : FHFIS AGATAT hl HTTTIHATSAT bl T LA 6 (AT qhl T
et G TH2r07 ST Foh skl dF) A e fohg e |

FROT (R) : Hftrerat dierd Wrer vare e (o) o fIg @ s 1 wHe
FARAAE |

e fow T foerea # & wdifoes Suged ST T ;

(A)  (A) 3R (R) THT T & 3T (R), (A) hl & AT 7 |

(B)  (A) 3 (R) 3HT & &, AfHA (R), (A) T Tt e Te 2 |
(C) (A)EE 2, Wl (R) A2 |

(D)  (A) T g, ek (R) W & |

Qus T

T 95 Afh et arat & § wiew faferear (@il § 2, 91 T oTer fawg fore
TR o TGN shl TATe 3T 2 foredl a1 @rer verert & W foiftae S s A garar 2 |

(F) TR TS ST 3 fR7eqT o & | Iuctsd fohedl =T’ || Sarat

o1 gl STST |
YT
@) UF fogq dEue g (SRR H)/RRFE # 81 a=al fl S AR
SATSIRATST T I i STt & 2

AT 7o 7T <hT BT H Th BME H T A | TR FR fARaw St et I8 ok o
T Hae ohid @ foh Wfos o ST SHT ST | SRy STHET <R 31 T2 |
TG 3T AT T oh TohH] Teh YU & 3T ohT ATH STy |

|1 BT STeell § TR Tl € AN SH Teh TaL Tkl H el o fore smele fora 2 |
TG HEE § GheldT I o folt 368 hH-8 =1 hive g+ =91iey ?
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Given below are two statements labelled as Assertion (A) and Reason (R).

Assertion (A) : Instant soup mixes and ready to cook meals were developed to

cater to the needs of working women.

Reason (R) : Processed food products often reduce preparation time for the

cook.
Select the most appropriate answer from the options given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C©)  (A)is true, but (R) is false.
(D)  (A)is false, but (R) is true.

SECTION C

What type of diet would a dietitian advise for an old person who has recently

undergone a surgery ? Name any two foods which he can take.

(a) Enlist any four commonly available services in the field of Early

Childhood Care and Education.
OR

(b) Which four needs of young children are catered to, in a day care

centre/creche ?

You have been to a resort in your summer vacation. What are the four factors that
will help you to decide whether you would like to go to the same resort in the

future or not ?

Name any one traditional handicraft each of Assam and Kerala.

Sophia loves little children and has applied for a job in a nursery school. Which

four skills should she possess in order to be successful in this career ?

Page 15 P.T.O.
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(@)  dohe o e TesTER s o foTu G2 fesigfm # wraes feult ot <t & | =i/ &t <t
T SHTSY, SRl T 1 AT € | 2
AT
(@) UF ASHh 7 31 N ATATSSST o el oh [T - HUST hT SUANT hlah STTET
T aredt § TS, o NS e o foTu S &S 18| SHeRT T8 9T T 2
T2 UL A1 | forer 19 & w=Iford g1 2
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(F) STATHE FRIHRRM (b €= 3rea 1 Feg Bt fope AR fopg o |
TRINT foRIT 2 R <t e forshrer S 3hl veet o 3t O ot 718, 38 © Tl a1

o 1 fafaT | 3
YT
(@) THN I H DhH-AT NI T, 37841 /TSH oh Tl SITTEahdT 3T i & 11T
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(F) T T G IR W@ | SN H AT S el SUR0T Bt i ot
FIAHTE 2
(@) ot i & et o 3 i et et s 1S415=3
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(a) Venkat has completed graduation degree in Set Designing to become a Set

Designer. List four areas where he can work. 2
OR

(b) A boy used the fabric intended for tents and wagon covers to make his
long-lasting pants with pockets for tools. What was his name ? This fabric

later became popular by which name ?

‘Nutritional problems are not just linked to food but to a variety of interrelated

factors at various levels.’
Justify the statement by giving any four factors related to undernutrition at

individual or family levels. 2

A group of students who are doing a course in Hotel Management have to study

about kitchen staff related to food preparation in a five star hotel kitchen. Name
which three personnel they may learn about there, and also mention any one

important responsibility of each. 3

(a) Who first coined the term ‘Development Communication’ and in which
year ? Name any two countries who also took the initiative in
Development Communication, like India. 3

OR

(b)  Which campaign was aimed to create awareness about HIV/AIDS in our

country ? List its any two features.

(a) Enumerate three categories of equipment which are used for care and

maintenance of clothes.

1 1
(b) Enlist the three methods of water extraction from clothes. 1 E+1 3=3
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(h)

@)

(%h)

@)

(%h)

@)

E5m
&

()  AeTeh drver AR ARG & § GRS U s hl -4 =GR

Sftfersht o STaER STETsY &
(i) Toraformem & Serfie qrvor 3k SRR ug™ & fore sig-dt uder =
T AT AR & 2 2+1=3
AT

() Tofrcd o vt @1 ae € 2 #1351 e e |
(i) AT AT A TR & 119 I AU § 2

Qs Yy

YEHTYe qall ohl HHI § ST 7 GHETd & 2 SI-81 31T Toq YEHaTTeh gHal

% foTT ST o AT ST R 2

ard # seiferd foret Tk gemdyeh Eiar 1 A frfae | e difea aftet |
feramé 37 et hiE < e e of sraev | 242=4

JUAIET AT SR Ga1eAl o HfaH Elier Bid & 3N F3 a1 o GHEATSAT
AT L & iR AT T ST YaTdr 3kt it STUETatl sl QU A H
HEwef T & |” ST HUA % Hew H IEqAl Sl Wliad THT UL AT
fopmel T STU e ot =it i | 4
AAAT

IvierT TTeI0T H RIS ST A o o8 Foral Uk T foseh ST Sed

T ST TTET © | W ST fRedr U TRerr & & H 3 €aAT b foheal

R HETqUT R h qHETSy |
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(a)

(b)

(a)

(b)

(a)

(b)

(1) Which four career avenues are available to a person who is trained

in the field of Clinical Nutrition and Dietetics ?

(i)  Which test is essential to qualify for teaching Clinical Nutrition and

Dietetics at a university ? 2+1=3

OR

(1) What are medical foods ? Give any one example.

(i) ~ What do you mean by a normal or a regular diet ?

SECTION D

What is meant by micronutrient deficiencies ? Which is the other term

used to refer to micronutrient deficiency ?

Name any one micronutrient deficiency prevalent in India. Also state any

two major symptoms seen in these patients. 2+2=4

‘Consumers are the final buyers of goods and services and many times

they face problems because the manufacturers/service providers may be

unable to fulfil all their expectations.” With reference to the above

statement, discuss any four expectations of consumers while purchasing

goods. 4
OR

After being trained in consumer studies, Ravinder wants to set up a
voluntary consumer organisation. Explain to him any four important roles

of these organisations in consumer education and protection.
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32.  Jai and Shipra together have recently inaugurated their chain stores in a city. [+2+7=4

(a) Which type of designer would have been responsible for enhancing the
beauty, decoration and functionality of various workplaces of their chain

stores ?
(b)  Name any four major departments within their chain stores.

(c) How is a small single-unit store different from a chain store ?

33. A 15-year-old adolescent boy dropped out of school due to constant peer pressure.

Even his family could not provide him any positive support and he became a

victim of illegal activities. 1+2+1=4
(a) Besides the above, name any one group of youth who is vulnerable.
(b)  Mention any two needs of 13 — 19 years-old-age group.

(©) Which policy is being run by the government to provide adequate

opportunities to the age group of 15 — 29 years ?

34. (a) Nayanika is wearing a plain saree with blouse having heavy zari

embroidery. 2+3=5

(1) State which principle of design has been created in this saree and
blouse outfit. What effect does this principle of design have on the

viewer ?

(i1))  Describe any other three ways by which this principle of design can
be created in garments.

OR
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(b)  Harry has received a shiny silk shirt with stripes as a gift from his sister.

(1) Identify two elements of design from the given description of the

shirt.

(i1))  Define any one of the above two elements of design and explain its

any two effects on the garment.

35. (a) State three differences between Codex and ISO. 3+2=5

(b) How does food get cross-contaminated ? Name the micro-organism which

spreads through this.
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